

٢٠١٩/١٠/١٥

الرياض

٢٠

الرياض

$$\log_n^m = a \quad \log_{mn}^{m^n} = b \quad a > 0 \quad [b] = ?$$

$$m = n^a$$

$$\Rightarrow \log_{n^{a+1}}^{n^{(a+1)}} = b \Rightarrow \frac{a+1}{a+1} \log_n^n = \frac{a+1}{a+1} = b$$

$$a > 0 \Rightarrow 1 < \frac{a+1}{a+1} < 2 \Rightarrow [b] = 1$$

$$y = \sqrt{\frac{n}{\log \frac{1}{r}}}$$

$$I) n > 0$$

$$II) \log \frac{1}{r} = 0 \Rightarrow n \neq 1$$

$$III) \frac{n}{\log \frac{1}{r}} \geq 0$$

$$I \cap II \cap III = (0, 1)$$

$$= \{ n \mid n = 0 \text{ or } n = 1 \}$$

$$y = \frac{\log(n^2 - n - 2)}{\sqrt{n^2 - 1} + 1}$$

$$I) n^2 - n - 2 > 0 \Rightarrow (n-2)(n+1) > 0$$

$$II) \sqrt{n^2 - 1} + 1 \neq 0 \Rightarrow \sqrt{n^2 - 1} \neq -1 \Rightarrow \mathbb{R}$$

$$\Rightarrow I \cap II = (-\infty, -1) \cup (2, +\infty)$$

$$r \log_n^a + \log_n^{\sqrt{n}} = r$$

$$n = 9 \Rightarrow a = ?$$

$$r \log_9^a + \log_9^{\sqrt{9}} = r \Rightarrow \log_9^a + \log_9^{\sqrt{9}} = r \Rightarrow \frac{1}{\log_9^r} + \log_9^{\sqrt{9}} = r \Rightarrow \log_9^{\sqrt{9}} = 1$$

$$r \log_9^a = r \Rightarrow \frac{r}{r} \log_9^a = 1$$

$$\Rightarrow a = 9$$

$$\log 3 \approx 0.477, \log 2 \approx 0.301, \sqrt{\Delta} = \sqrt{\frac{13.2 + 9.8}{100}} = \frac{1.5}{10} \quad (\log 9)^r = (r \log 3)^r = \frac{9.8}{100}$$

$$[\log \frac{a}{r}] n^2 + (\log 9) n - \log 12 = 0 \quad + \varepsilon (\log \omega - \log 3) (\log \omega + \log 3)$$

$$a = \log \omega - \log 3 = 0.477 - 0.301 = 0.176 \quad + \varepsilon ((\log \omega)^2 - (\log 3)^2)$$

$$\frac{1}{a - \beta} = \frac{\sqrt{\Delta}}{2\alpha} \quad \log \omega = \log \frac{10}{r} = \log 10 - \log r = 0.176$$

$$= \frac{1.5}{0.176} = \frac{1.5}{0.176}$$

$$\Delta = b^2 - 4ac = (\log 9)^2 - \varepsilon (\log \frac{a}{r}) (-\log \omega) \quad \varepsilon (\frac{9.8}{100} - \frac{1.5}{100}) = \frac{13.2}{100}$$

$$\log_9^{\sqrt{9}} = 2.11$$

$$\log_9^{\sqrt{9}} = 0.12$$

$$\log_{10}^{\frac{10}{r}} = ? \quad \frac{r}{r} = \frac{10}{10}$$

$$\log_{10}^{\frac{10}{r}} = \frac{1}{\log_{10}^{\frac{10}{r}}} \Rightarrow \log_{10}^{\frac{10}{r}} = \log_{10}^{\sqrt{9}} + \log_{10}^{\sqrt{9}} = \frac{2.11}{r} + \frac{1}{r} = \frac{3.11}{r} = \frac{3.11}{10}$$

$$\log_{10}^{\sqrt{9}} = \frac{\log_{10}^{\sqrt{9}}}{\log_{10}^{\sqrt{9}}} = 2.11 \quad \log_{10}^{\sqrt{9}} = \frac{\log_{10}^{\sqrt{9}}}{\log_{10}^{\sqrt{9}}} = \frac{\log_{10}^{\sqrt{9}}}{1 - \log_{10}^{\sqrt{9}}} = 0.12$$

$$\log_{10}^{\sqrt{9}} = \frac{2.11}{r}$$

$$\frac{r}{r} \log_{10}^{\sqrt{9}} = \frac{1}{r} \Rightarrow \log_{10}^{\sqrt{9}} = \frac{1}{r} \Rightarrow \frac{1}{r} - \frac{1}{r} \log_{10}^{\sqrt{9}} = \log_{10}^{\sqrt{9}}$$

$$\log_{\sqrt{r}} \omega = 1/\omega$$

$$\log_{\sqrt{r}} \sqrt{r} = 1/\sqrt{r} \Rightarrow \log_{\sqrt{r}} \sqrt{r} = \frac{1}{1/\sqrt{r}} = \sqrt{r} \quad -4$$

$$\log_{\sqrt{r}} \omega = \frac{\log_{\sqrt{r}} \omega}{\log_{\sqrt{r}} \omega} = \frac{\log_{\sqrt{r}} \omega + \log_{\sqrt{r}} \sqrt{r}}{\log_{\sqrt{r}} \omega + \log_{\sqrt{r}} \sqrt{r}} = \frac{1 + 1/\sqrt{r}}{1/\sqrt{r} + 1/\sqrt{r}} = \frac{1 + 1/\sqrt{r}}{2/\sqrt{r}} = \frac{\sqrt{r} + 1}{2} = \frac{1}{2} \quad (5)$$

$$\log_{\sqrt{r}} \omega = \frac{\log_{\sqrt{r}} \omega}{\log_{\sqrt{r}} \omega} = \frac{1/\omega}{1/\sqrt{r}} = \frac{\sqrt{r}}{\omega} = 1/\sqrt{r}$$

$$\log_{\sqrt{r}} \omega = m$$

$$\log_{\sqrt{r}} \sqrt{r} = ?$$

$$\log_{\sqrt{r}} \sqrt{r} = \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \sqrt{r} + \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \sqrt{r} = \frac{1/\sqrt{r} + 1/\sqrt{r}}{2} = \frac{2/\sqrt{r}}{2} = \frac{1}{\sqrt{r}} \quad -5$$

$$\log_{\sqrt{r}} \omega = \frac{\log_{\sqrt{r}} \omega}{\log_{\sqrt{r}} \omega} = \frac{\log_{\sqrt{r}} \omega + \log_{\sqrt{r}} \sqrt{r}}{\log_{\sqrt{r}} \omega + \log_{\sqrt{r}} \sqrt{r}} = m \Rightarrow \frac{1/\omega + 1/\sqrt{r}}{1/\omega + 1/\sqrt{r}} = \log_{\sqrt{r}} \omega \quad (5) \quad \left(\frac{1/\omega + 1/\sqrt{r}}{2} \right)$$

$$\Rightarrow \frac{1/\omega + 1/\sqrt{r}}{2} = \log_{\sqrt{r}} \omega$$

$$\left(\frac{1}{\omega} \right)^{1/\sqrt{r}} = \left(\frac{1}{\omega} \right)^{1/\sqrt{r}}$$

$$\log_{\sqrt{r}} (\omega^{1/\sqrt{r}}) = ?$$

-1

$$\left(\frac{1}{\omega} \right)^{1/\sqrt{r}} = \left(\frac{1}{\omega} \right)^{1/\sqrt{r}} \Rightarrow \left(\frac{1}{\omega} \right)^{1/\sqrt{r}} = \left(\frac{1}{\omega} \right)^{1/\sqrt{r}} \Rightarrow \left(\frac{1}{\omega} \right)^{1/\sqrt{r}} = \left(\frac{1}{\omega} \right)^{1/\sqrt{r}} \quad (5)$$

$$\log_{\sqrt{r}} (\omega^{1/\sqrt{r}}) = \log_{\sqrt{r}} \omega = \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega \Rightarrow \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega = \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega \Rightarrow \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega = \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega$$

$$\Rightarrow \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega = \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega \Rightarrow \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega = \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega \Rightarrow \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega = \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega \quad (5)$$

$$\log_{\sqrt{r}} \omega = a$$

$$\log_{\sqrt{r}} \omega = \frac{1}{\sqrt{r}} (1+a)$$

$$\log_{\sqrt{r}} (\omega - 1) = ? \quad (5)$$

$$\log_{\sqrt{r}} \omega = \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega \Rightarrow \log_{\sqrt{r}} \omega = \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega \Rightarrow \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega = \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega \Rightarrow \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega = \frac{1}{\sqrt{r}} \log_{\sqrt{r}} \omega \quad (5)$$

$$\omega^a = \omega \Rightarrow (\omega^a)^r = \omega$$

$$\log_{\sqrt{r}} (\omega - 1) = \log_{\sqrt{r}} (\omega - 1) = \log_{\sqrt{r}} (\omega - 1) = \log_{\sqrt{r}} (\omega - 1) \quad (5)$$

$$\log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \quad (5)$$

$$\log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \quad (5)$$

$$\log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \quad (5)$$

$$\log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \quad (5)$$

$$\log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \Rightarrow \log_{\sqrt{r}} \omega = a \quad (5)$$